

## Characterizations of $le$ -semigroups

Ahsan Mahboob and Noor Mohammad Khan

Communicated by Ayman Badawi

MSC 2010 Classifications: 06F05, 20M12, 20M10.

Keywords and phrases:  $le$ -semigroups,  $(m, n)$ -ideal elements,  $(m, n)$ -quasi-ideal elements.

**Abstract** In this paper, first we show that the equivalence relations  $\mathcal{B}, \mathcal{Q}, \mathcal{H}$  are finer than the equivalence relations  $\mathcal{B}_m^n, \mathcal{Q}_m^n, \mathcal{H}_m^n$  in  $le$ -semigroups. Next, we show that on any  $(m, n)$ -regular  $le$ -semigroup  $\mathcal{B}_m^n = \mathcal{B}, \mathcal{Q}_m^n = \mathcal{Q}, \mathcal{H}_m^n = \mathcal{H}$  and  $\mathcal{B} = \mathcal{Q} = \mathcal{H} = \mathcal{B}_m^n = \mathcal{Q}_m^n = \mathcal{H}_m^n$ . We, then, characterize  $(m, n)$ -regular  $le$ -semigroups in terms of  $(m, n)$ -ideal elements and study 0-minimality of  $(m, n)$ -ideal elements in  $poe$ -semigroups. Finally  $(m, 0)$ -simple,  $(0, n)$ -simple and  $(m, n)$ -simple  $poe$ -semigroups are characterized and equalities  $\mathcal{L} = \mathcal{R} = \mathcal{B} = \mathcal{Q} = \mathcal{H} = {}_m\mathcal{I} = \mathcal{I}_n = \mathcal{B}_m^n = \mathcal{Q}_m^n = \mathcal{H}_m^n = S \times S$  have been shown in  $(m, n)$ -simple  $le$ -semigroups.

### 1 Introduction and Preliminaries

As a generalization of the notions of left, right and two-sided ideals, the notion of  $(m, n)$ -ideals in semigroups was introduced by Lajos [11]. Thereafter many other authors [2, 3, 17] had studied  $(m, n)$ -ideals in ordered semigroups. Kehayopulu [9, 10], characterized  $poe$ -semigroups,  $\vee$ -semigroups and  $le$ -semigroups in terms of left (resp. right) ideal elements, ideal-elements, bi-ideal elements and quasi-ideal elements of respective semigroups. Kehayopulu [8], studied  $(m, n)$ -ideal elements and  $(m, n)$ -quasi-ideal elements in  $poe$ -semigroups and  $le$ -semigroups. In the present paper, we study the connection between equivalence relations  $\mathcal{L}, \mathcal{R}, \mathcal{B}, \mathcal{Q}, \mathcal{H}$  and  ${}_m\mathcal{I}, \mathcal{I}_n, \mathcal{B}_m^n, \mathcal{Q}_m^n, \mathcal{H}_m^n$  and characterize  $(m, n)$ -regular  $le$ -semigroups and 0-minimality of  $(m, n)$ -ideal elements in  $poe$ -semigroups. We, then, show that a  $poe$ -semigroup  $S$  is  $(m, 0)$ -simple ( $(0, n)$ -simple,  $(m, n)$ -simple) if and only if  $S$  does not contain any proper  $(m, 0)$ -ideal ( $(0, n)$ -ideal,  $(m, n)$ -ideal) and, in any  $(m, n)$ -simple  $le$ -semigroup,  $\mathcal{L} = \mathcal{R} = \mathcal{B} = \mathcal{Q} = \mathcal{H} = {}_m\mathcal{I} = \mathcal{I}_n = \mathcal{B}_m^n = \mathcal{Q}_m^n = \mathcal{H}_m^n = S \times S$ .

**Definition 1.1.** Let  $S$  be a non-empty set. The triplet  $(S, \cdot, \leq)$  is called a  $po$ -semigroup if  $(S, \cdot)$  is a semigroup and  $(S, \leq)$  is a partially ordered set such that

$$a \leq b \Rightarrow ac \leq bc \text{ and } ca \leq cb$$

for all  $a, b, c \in S$ . A  $po$ -semigroup with a greatest element “ $e$ ” (i.e. for each  $a \in S, a \leq e$ ) is said to be a  $poe$ -semigroup.

Let  $S$  be a  $po$ -semigroup. For a subset  $A$  of  $S$ , we denote  $[A] = \{x \in S \mid x \leq a \text{ for some } a \in A\}$ . A non-empty subset  $T$  of  $S$  is said to be a subsemigroup of  $S$  if  $T^2 \subseteq T$ . A non-empty subset  $A$  of  $S$  is called a left (right) ideal of  $S$  if  $SA \subseteq A$  ( $AS \subseteq A$ ) and  $[A] \subseteq A$ . Further  $A$  is called an ideal of  $S$  if it is both a left and right ideal of  $S$ . For any non-negative integers  $m, n$ , a subsemigroup  $A$  of  $S$  is called an  $(m, n)$ -ideal of  $S$  if  $A^m S A^n \subseteq A$  and  $[A] \subseteq A$ . For any non-empty subsets  $A, B$  of  $S$ , it is easy to verify that  $A \subseteq [A], ([A][B]) = [AB]$  and  $([A]) = [A]$ , where  $AB = \{ab \mid a \in A, b \in B\}$ .

Let  $S$  be a  $poe$ -semigroup. An element  $a$  is called a *subsemigroup element* if  $a^2 \leq a$  and  $a$  is called a *left (resp. right) ideal element* of  $S$  if  $ea \leq a$  (resp.  $ae \leq a$ ). It is called an *ideal element* of  $S$  if it is both a left and right ideal element of  $S$ . An element  $a$  is called a *bi-ideal element* if  $aea \leq a$ . An element  $a$  of  $S$  is called an *idempotent element* if  $a = a^2$  and a *quasi-ideal element* if  $ae \wedge ea$  exists and  $ae \wedge ea \leq a$ . An element  $z \in S$  is called a *zero element* of  $S$  if  $za = az = z$  and  $z \leq a$  for each  $a \in S$ . The zero element, if exists, is unique. we shall denote it, in whatever follows, by the symbol 0. A  $poe$ -semigroup  $S$  is called *regular (left regular, right regular)* if  $a \leq aea$  ( $a \leq ea^2, a \leq a^2e$ ) for each  $a \in S$ .

In this paper, we have considered the definition of a *bi-ideal* element given by Kehayopulu in [9] which is different from the definition given by Bhuniya and Kumbhakar in [1] and is as follows: a subsemigroup element  $b$  of  $S$  is said to be a bi-ideal element if  $beb \leq b$ .

**Definition 1.2.** A *poe*-semigroup  $S$  is said to be  $\vee e$ -semigroup if it is an upper semilattice under  $\vee$  and

$$c(a \vee b) = ca \vee cb \text{ and } (a \vee b)c = ac \vee bc$$

for all  $a, b, c \in S$ . A  $\vee e$ -semigroup which is a lattice is said to be an *le*-semigroup.

Let  $S$  be any *le*-semigroup. Then it is easy to verify that under the order relation  $\leq$  on  $S$

$$a \leq b \Leftrightarrow a \wedge b = a \text{ and } a \vee b = b$$

for each  $a, b \in S$ .

**Example 1.3.** [13] Let  $G$  be a group and  $\mathcal{C}_G$  denotes the set of all congruence relations on  $G$ . Define a binary operation  $\circ$  on  $\mathcal{C}_G$  by

$$\rho \circ \sigma = \{(a, b) \in G \times G \mid (\exists c \in G)(a, c) \in \rho \text{ and } (c, b) \in \sigma\}$$

for each  $\rho, \sigma \in \mathcal{C}_G$ . By [7],  $\rho \circ \sigma = \sigma \circ \rho$  for all  $\rho, \sigma \in \mathcal{C}_G$ . Let  $\mathcal{B}_G$  denotes the set of all binary relations on  $G$ . As  $\mathcal{C}_G \subseteq \mathcal{B}_G$  and  $(\mathcal{B}_G, \circ)$  is a semigroup,  $(\mathcal{C}_G, \circ)$  is a semigroup. Define a relation  $\leq$  on  $\mathcal{C}_G$  by

$$\rho \leq \sigma \Leftrightarrow \rho \subseteq \sigma$$

for each  $\rho, \sigma \in \mathcal{C}_G$ . Clearly  $\leq$  is an ordered relation on  $\mathcal{C}_G$  such that

$$\rho \leq \sigma \Rightarrow \rho \circ \tau \leq \sigma \circ \tau \text{ and } \tau \circ \rho \leq \tau \circ \sigma$$

for each  $\rho, \sigma, \tau$  in  $\mathcal{C}_G$ . So  $\mathcal{C}_G$  is a *poe*-semigroup with the greatest element  $e = G \times G$ .

It is well known that  $\rho \wedge \sigma = \rho \cap \sigma$  and  $\rho \vee \sigma = \rho \circ \sigma \forall \rho, \sigma \in \mathcal{C}_G$ . Now for any  $\rho, \sigma, \tau \in \mathcal{C}_G$ ,

$$\begin{aligned} \tau \circ (\rho \vee \sigma) &= \tau \circ (\rho \circ \sigma) \\ &= \tau \circ \tau \circ \rho \circ \sigma \quad (\tau \in \mathcal{C}_G, \tau = \tau \circ \tau) \\ &= \tau \circ \rho \circ \tau \circ \sigma \quad (\rho, \sigma \in \mathcal{C}_G, \rho \circ \sigma = \sigma \circ \rho) \\ &= (\tau \circ \rho) \vee (\tau \circ \sigma). \end{aligned}$$

Similarly  $(\rho \vee \sigma) \circ \tau = \rho \circ \tau \vee \sigma \circ \tau$ . Hence  $\mathcal{C}_G$  is an *le*-semigroup.

For the study of ideal elements in *le*- $\Gamma$ -semigroups, the reader is referred to [4, 5, 6].

**Definition 1.4.** Green-Kehayopulu relations  $\mathcal{L}, \mathcal{R}, \mathcal{H}$  and relations  $\mathcal{B}, \mathcal{Q}$  on an *le*-semigroup defined in [15] and [16] are as follows:

$$\begin{aligned} \mathcal{L} &= \{(x, y) \in S \times S \mid l(x) = l(y)\}; \\ \mathcal{R} &= \{(x, y) \in S \times S \mid r(x) = r(y)\}; \\ \mathcal{H} &= \mathcal{L} \cap \mathcal{R}; \\ \mathcal{B} &= \{(x, y) \in S \times S \mid b(x) = b(y)\}; \\ \mathcal{Q} &= \{(x, y) \in S \times S \mid q(x) = q(y)\}; \end{aligned}$$

where  $l(x) = x \vee ex, r(x) = x \vee xe, b(x) = x \vee xex$  and  $q(x) = x \vee (xe \wedge ex)$  are the left ideal element, right ideal element, bi-ideal element and quasi-ideal-element of  $S$  generated by the element  $x$  respectively i.e. least left ideal element, least right ideal element, least bi-ideal element and least quasi-ideal element of  $S$  greater than the element  $x$  respectively. Clearly all relations defined above are equivalence relations on  $S$ .

Let  $S$  be a  $poe$ -semigroup and  $m, n$  be non-negative integers. An element  $a$  of  $S$  is called an  $(m, n)$ -ideal element of  $S$  if  $a^m e a^n \leq a$  and  $(m, n)$ -quasi-ideal element if  $a^m e \wedge e a^n$  exists and  $a^m e \wedge e a^n \leq a$ . A  $poe$ -semigroup  $S$  is called  $(m, n)$ -regular ( $(m, 0)$ -regular,  $(0, n)$ -regular) if  $a \leq a^m e a^n$  ( $a \leq a^m e, a \leq e a^n$ ) for each  $a \in S$ .

Let  $S$  be an  $le$ -semigroup and  $m, n$  be non-negative integers. We denote by  $\langle a \rangle_{\langle m, n \rangle}$ , an  $(m, n)$ -ideal element of  $S$ , and by  $(a)_{\langle m, n \rangle}$ , an  $(m, n)$ -quasi-ideal element of  $S$ , generated by the element  $a$  of  $S$  respectively i.e. the least  $(m, n)$ -ideal element and the least  $(m, n)$ -quasi-ideal element of  $S$  greater than the element  $a$ . By [8]

$$\begin{aligned} \langle a \rangle_{\langle m, n \rangle} &= a \vee a^m e a^n \\ (a)_{\langle m, n \rangle} &= a \vee (a^m e \wedge e a^n). \end{aligned}$$

Thus  $a \in S$  is an  $(m, n)$ -ideal ( $(m, n)$  quasi-ideal) element of  $S$  if and only if  $\langle a \rangle_{\langle m, n \rangle} = a$  ( $(a)_{\langle m, n \rangle} = a$ ).

**Definition 1.5.** Let  $S$  be an  $le$ -semigroup and  $m, n$  be positive integers. Define relations  ${}_m \mathcal{I}, \mathcal{I}_n, \mathcal{H}_m^n, \mathcal{B}_m^n$  and  $\mathcal{Q}_m^n$  [12] on  $S$  as follows:

$$\begin{aligned} {}_m \mathcal{I} &= \{(a, b) \in S \times S \mid \langle a \rangle_{\langle m, 0 \rangle} = \langle b \rangle_{\langle m, 0 \rangle}\}; \\ \mathcal{I}_n &= \{(a, b) \in S \times S \mid \langle a \rangle_{\langle 0, n \rangle} = \langle b \rangle_{\langle 0, n \rangle}\}; \\ \mathcal{H}_m^n &= {}_m \mathcal{I} \cap \mathcal{I}_n; \\ \mathcal{B}_m^n &= \{(a, b) \in S \times S \mid \langle a \rangle_{\langle m, n \rangle} = \langle b \rangle_{\langle m, n \rangle}\}; \\ \mathcal{Q}_m^n &= \{(a, b) \in S \times S \mid (a)_{\langle m, n \rangle} = (b)_{\langle m, n \rangle}\}. \end{aligned}$$

Clearly all the relations defined above are equivalence relations on  $S$ . In particular for  $m = 1 = n$ ,  ${}_1 \mathcal{I} = \mathcal{R}, \mathcal{I}_1 = \mathcal{L}, \mathcal{H}_1^1 = \mathcal{H}, \mathcal{B}_1^1 = \mathcal{B}$  and  $\mathcal{Q}_1^1 = \mathcal{Q}$  respectively.

## 2 $(m, n)$ -regular $le$ -semigroups

**Theorem 2.1.** Let  $S$  be an  $le$ -semigroup and  $m, n$  be positive integers. Then the following conditions hold:

- (1)  $\mathcal{B}_m^n \subseteq \mathcal{B}$ ;
- (2)  $\mathcal{Q}_m^n \subseteq \mathcal{Q}$ ;
- (2)  $\mathcal{H}_m^n \subseteq \mathcal{H}$ .

*Proof.* (1). Let  $(x, y) \in \mathcal{B}_m^n$ . Then  $\langle x \rangle_{\langle m, n \rangle} = \langle y \rangle_{\langle m, n \rangle}$  i.e.  $x \vee x^m e x^n = y \vee y^m e y^n$  implies  $x \leq y \vee y^m e y^n$  and  $y \leq x \vee x^m e x^n$ . So,  $x \leq y \vee y^m e y^n \leq y \vee y e y$  and  $y \leq x \vee x^m e x^n \leq x \vee x e x$ . Thus, we have

$$\begin{aligned} x e x &\leq (y \vee y e y) e (y \vee y e y) \\ &= (y e \vee y e y e) (y \vee y e y) \\ &= y e y \vee y e y e y \vee y e y e y \vee y e y e y e y \\ &= y e y. \end{aligned}$$

Similarly  $y e y \leq x e x$ . As  $x \leq y \vee y e y$ . Therefore

$$\begin{aligned} b(x) &= x \vee x e x \\ &\leq y \vee y e y \vee x e x && \text{(as } x \leq y \vee y e y) \\ &\leq y \vee y e y \vee y e y && \text{(as } x e x \leq y e y) \\ &= b(y). \end{aligned}$$

Similarly  $b(y) \leq b(x)$ . Hence  $b(x) = b(y)$  i.e.  $(x, y) \in \mathcal{B}$ .

(2). Let  $(x, y) \in \mathcal{Q}_m^n$ . Then  $(x)_{\langle m, n \rangle} = (y)_{\langle m, n \rangle}$  i.e.  $x \vee (x^m e \wedge e x^n) = y \vee (y^m e \wedge e y^n)$ . This

implies that  $x \leq y \vee (y^m e \wedge e y^n)$  and  $y \leq x \vee (x^m e \wedge e x^n)$ . So  $x \leq y \vee (y^m e \wedge e y^n) \leq y \vee (y e \wedge e y)$  and  $y \leq x \vee (x^m e \wedge e x^n) \leq x \vee (x e \wedge e x)$ . Thus, we have

$$\begin{aligned} x e &\leq (y \vee (y e \wedge e y)) e \\ &= y e \vee (y e \wedge e y) e \\ &\leq y e. \end{aligned}$$

Similarly  $y e \leq x e$ . Therefore  $x e = y e$ , similarly  $e x = e y$ . As  $x \leq y \vee (y e \wedge e y)$ , we have

$$\begin{aligned} q(x) &= x \vee (x e \wedge e x) \\ &\leq y \vee (y e \wedge e y) \vee (x e \wedge e x) \\ &= y \vee (y e \wedge e y) \quad (\text{as } x e = y e, e x = e y) \\ &= q(y) \end{aligned}$$

Similarly  $q(y) \leq q(x)$ . Hence  $q(x) = q(y)$  i.e.  $(x, y) \in \mathcal{Q}$ .

(3). Let  $(x, y) \in \mathcal{H}_m^n$ . Then  $\langle x \rangle_{\langle m, 0 \rangle} = \langle y \rangle_{\langle m, 0 \rangle}$  and  $\langle x \rangle_{\langle 0, n \rangle} = \langle y \rangle_{\langle 0, n \rangle}$  i.e.  $x \vee x^m e = y \vee y^m e$  and  $x \vee e x^n = y \vee e y^n$ . This implies that  $x \leq y \vee y^m e, y \leq x \vee x^m e$  and  $x \leq y \vee e y^n, y \leq x \vee e x^n$ . So  $x \leq y \vee y^m e \leq y \vee y e, y \leq x \vee x^m e \leq x \vee x e$  and  $x \leq y \vee e y^n \leq y \vee e y, y \leq x \vee e x^n \leq x \vee e x$ . Now

$$\begin{aligned} x e &\leq (y \vee y e) e \\ &= y e \vee y e^2 \\ &\leq y e. \end{aligned}$$

Similarly  $y e \leq x e$ . Therefore  $x e = y e$ , similarly  $e x = e y$ . As  $x \leq y \vee e y$ , we have

$$\begin{aligned} l(x) &= x \vee e x \\ &\leq y \vee e y \vee e x \\ &= y \vee e y \quad (\text{as } e x = e y) \\ &= l(y). \end{aligned}$$

Similarly  $l(y) \leq l(x)$ . Therefore  $l(x) = l(y)$ . Similarly  $r(x) = r(y)$ . So  $(x, y) \in \mathcal{H}$ , as required.  $\square$

**Lemma 2.2.** [16, 14] Let  $S$  be an  $le$ -semigroup. Then  $\mathcal{B} \subseteq \mathcal{H}$  ( $\mathcal{Q} \subseteq \mathcal{H}$ ).

**Lemma 2.3.** [16] Let  $S$  be an  $le$ -semigroup and  $x, y \in S$  are  $\mathcal{H}$ -related. Then  $x e = y e, e x = e y$  and  $x e x = y e y$ .

**Theorem 2.4.** Let  $S$  be an  $le$ -semigroup and  $m, n$  be positive integers. If  $S$  is  $(m, n)$ -regular, then:

- (1)  $\mathcal{B}_m^n = \mathcal{B}$ ;
- (2)  $\mathcal{Q}_m^n = \mathcal{Q}$ ;
- (3)  $\mathcal{H}_m^n = \mathcal{H}$ .

*Proof.* (1). Let  $S$  be an  $(m, n)$ -regular  $le$ -semigroup and  $(x, y) \in \mathcal{B}$ . Then  $b(x) = b(y)$  i.e.  $x \leq y \vee y e y$  and  $y \leq x \vee x e x$ . As  $S$  is  $(m, n)$ -regular,  $y e y \leq (y^m e y^n) e (y^m e y^n) \leq y^m e y^n \leq y e y$  and  $x e x \leq (x^m e x^n) e (x^m e x^n) \leq x^m e x^n \leq x e x$ . So  $y e y = y^m e y^n$  and  $x e x = x^m e x^n$ . Since  $S$  is  $(m, n)$ -regular,  $\langle x \rangle_{\langle m, n \rangle} = x^m e x^n$  and  $\langle y \rangle_{\langle m, n \rangle} = y^m e y^n$ . As, by Lemmas 2.2 and 2.3,  $x e x = y e y$ , it follows that  $\langle x \rangle_{\langle m, n \rangle} = \langle y \rangle_{\langle m, n \rangle}$ . Thus  $(x, y) \in \mathcal{B}_m^n$ . Hence, by Theorem 2.1,  $\mathcal{B}_m^n = \mathcal{B}$ .

(2). Let  $S$  be an  $(m, n)$ -regular  $le$ -semigroup and  $(x, y) \in \mathcal{Q}$ . Then  $q(x) = q(y)$  i.e.  $x \leq y \vee (y e \wedge e y)$  and  $y \leq x \vee (x e \wedge e x)$ . As  $S$  is  $(m, n)$ -regular,  $y e \wedge e y \leq (y^m e y^n) e \wedge e (y^m e y^n) \leq y^m e \wedge e y^n \leq y e \wedge e y$  and  $x e \wedge e x \leq (x^m e x^n) e \wedge e (x^m e x^n) \leq x^m e \wedge e x^n \leq x e \wedge e x$ . So,

$ye \wedge ey = y^m e \wedge ey^n$  and  $xe \wedge ex = x^m e \wedge ex^n$ . Since  $S$  is  $(m, n)$ -regular,  $(x)_{\langle m, n \rangle} = x^m e \wedge ex^n$  and  $(y)_{\langle m, n \rangle} = y^m e \wedge ey^n$ . Again, as by Lemmas 2.2 and 2.3,  $xe = ye, ex = ey$ , it follows that  $(x)_{\langle m, n \rangle} = (y)_{\langle m, n \rangle}$ . Thus  $(x, y) \in \mathcal{Q}_m^n$ . Hence, by Theorem 2.1,  $\mathcal{Q}_m^n = \mathcal{Q}$ .

(3). Let  $S$  be an  $(m, n)$ -regular  $le$ -semigroup and  $(x, y) \in \mathcal{H}$ . Then  $l(x) = l(y)$  and  $r(x) = r(y)$  i.e.  $x \leq y \vee ey, y \leq x \vee ex$  and  $x \leq y \vee ye, y \leq x \vee xe$ . As  $S$  is  $(m, n)$ -regular,  $ye \leq (y^m ey^n)e \leq y^m e \leq ye$  and  $xe \leq (x^m ex^n)e \leq x^m e \leq xe$ . So  $ye = y^m e$  and  $xe = x^m e$ . Also, as  $S$  is  $(m, n)$ -regular,  $\langle x \rangle_{\langle m, 0 \rangle} = x^m e$  and  $\langle y \rangle_{\langle m, 0 \rangle} = y^m e$ . As by Lemma 2.3,  $ex = ey$ , we have  $\langle x \rangle_{\langle m, 0 \rangle} = \langle y \rangle_{\langle m, 0 \rangle}$ . Therefore  $(x, y) \in {}_m\mathcal{I}$ . Similarly  $(x, y) \in \mathcal{I}_n$ . Thus  $(x, y) \in \mathcal{H}_m^n$ . Hence, by Theorem 2.1,  $\mathcal{H}_m^n = \mathcal{H}$ .  $\square$

**Lemma 2.5.** [16, 14] *In a regular  $le$ -semigroup  $\mathcal{B} = \mathcal{H} (\mathcal{Q} = \mathcal{H})$ .*

**Corollary 2.6.** *Let  $S$  be an  $le$ -semigroup and  $m, n$  be positive integers. If  $S$  is  $(m, n)$ -regular, then  $\mathcal{B} = \mathcal{Q} = \mathcal{H} = \mathcal{B}_m^n = \mathcal{Q}_m^n = \mathcal{H}_m^n$ .*

*Proof.* Let  $S$  be an  $(m, n)$ -regular  $le$ -semigroup. Then  $S$  is regular because  $a \leq a^m ea^n \leq aea$  for each  $a \in S$ . Thus, by Theorem 2.4 and Lemma 2.5,  $\mathcal{B} = \mathcal{Q} = \mathcal{H} = \mathcal{B}_m^n = \mathcal{Q}_m^n = \mathcal{H}_m^n$ , as required.  $\square$

**Theorem 2.7.** *Let  $S$  be an  $le$ -semigroup and  $m, n$  be positive integers with either  $m \geq 2$  or  $n \geq 2$ . Then the following are equivalent:*

- (1)  $S$  is  $(m, n)$ -regular;
- (2)  $a^2 = a \forall a \in I_{\langle m, n \rangle}$ ;
- (3)  $a_1 \wedge a_2 = a_1 a_2 \wedge a_2 a_1 \forall a_1, a_2 \in I_{\langle m, n \rangle}$ ;
- (4)  $a_1^2 \leq a \Rightarrow a_1 \leq a \forall a_1, a \in I_{\langle m, n \rangle}$ ,

where  $I_{\langle m, n \rangle}$  denotes the set of all  $(m, n)$ -ideal elements of  $S$ .

*Proof.* (1)  $\Rightarrow$  (2). Let  $a$  be an  $(m, n)$ -ideal element of  $S$ . Then  $a = a^m ea^n$ . Now

$$a^2 = (a^m ea^n)(a^m ea^n) \leq (a^m ea^n) = a$$

and

$$\begin{aligned} a &= a^m ea^n = (a^m ea^n)^m ea^n \\ &= \underbrace{(a^m ea^n) \dots (a^m ea^n)}_{m\text{-times}} ea^n \\ &\leq (a^m ea^n)(a^m ea^n) = aa. \end{aligned}$$

Hence  $a^2 = a (\forall a \in I_{\langle m, n \rangle})$ .

(2)  $\Rightarrow$  (3). Let  $a_1, a_2 \in I_{\langle m, n \rangle}$ . As  $a_1 \wedge a_2 \in I_{\langle m, n \rangle}$ , by hypothesis,  $a_1 \wedge a_2 = (a_1 \wedge a_2)^2 = (a_1 \wedge a_2)(a_1 \wedge a_2) \leq a_1 a_2$ . Similarly  $a_1 \wedge a_2 \leq a_2 a_1$ . Therefore  $a_1 \wedge a_2 \leq a_1 a_2 \wedge a_2 a_1$ . Now

$$\begin{aligned} (a_1 a_2)^m e (a_1 a_2)^n &= \underbrace{(a_1 a_2)(a_1 a_2) \dots (a_1 a_2)}_{m\text{-times}} e \underbrace{(a_1 a_2)(a_1 a_2) \dots (a_1 a_2)}_{n\text{-times}} \\ &= a_1 a_2 ((a_1 a_2)^{m-1} e a_1 (a_2 a_1)^{n-1}) a_2 \\ &\leq a_1 a_2 e a_2 \\ &= a_1 a_2^m e a_2^n \\ &\leq a_1 a_2 \end{aligned}$$

Therefore  $a_1 a_2 \in I_{\langle m, n \rangle}$ . Similarly  $a_2 a_1 \in I_{\langle m, n \rangle}$ . So  $a_1 a_2 \wedge a_1 a_2 \in I_{\langle m, n \rangle}$ . Now, by (2),  $a_1 a_2 \wedge a_2 a_1 = (a_1 a_2 \wedge a_2 a_1)^2 = (a_1 a_2 \wedge a_2 a_1)(a_1 a_2 \wedge a_2 a_1) \leq a_1 a_2 a_2 a_1 \leq a_1^m e a_1^n \leq a_1$ . Similarly  $a_1 a_2 \wedge a_2 a_1 \leq a_2$ . Therefore  $a_1 a_2 \wedge a_2 a_1 \leq a_1 \wedge a_2$ . Hence  $a_1 \wedge a_2 = a_1 a_2 \wedge a_2 a_1$ .

(3)  $\Rightarrow$  (4). Take any  $a, a_1 \in I_{\langle m, n \rangle}$  such that  $a_1^2 \leq a$ . By hypothesis,  $a_1 = a_1 \wedge a_1 = a_1 a_1 \wedge a_1 a_1 = a_1^2$ . Therefore  $a_1 \leq a$ .

(4)  $\Rightarrow$  (1). Let  $a \in S$ . As  $\langle a \rangle_{\langle m,n \rangle} \in I_{\langle m,n \rangle}$  and  $(\langle a \rangle_{\langle m,n \rangle})^2 \leq (\langle a \rangle_{\langle m,n \rangle})^2$ ,  $\langle a \rangle_{\langle m,n \rangle} \leq (\langle a \rangle_{\langle m,n \rangle})^2$ . Therefore, we have

$$\begin{aligned} \langle a \rangle_{\langle m,n \rangle} &\leq (\langle a \rangle_{\langle m,n \rangle})^2 \\ &\leq (\langle a \rangle_{\langle m,n \rangle})^3 \\ &\vdots \\ &\leq (\langle a \rangle_{\langle m,n \rangle})^{m+n+1} \\ &\leq (\langle a \rangle_{\langle m,n \rangle})^m e (\langle a \rangle_{\langle m,n \rangle})^n \\ &= a^m e a^n. \end{aligned}$$

Since  $a \leq \langle a \rangle_{\langle m,n \rangle}$ , we have  $a \leq a^m e a^n$ . Hence  $S$  is  $(m, n)$ -regular. □

**Theorem 2.8.** *Let  $S$  be an  $le$ -semigroup and  $m, n$  be positive integers with either  $m \geq 2$  or  $n \geq 2$ . Then for each  $a, a_1, a_2 \in I_{\langle m,n \rangle}$  such that  $a_1 a_2 \wedge a_2 a_1 \leq a$  implies that either  $a_1 \leq a$  or  $a_2 \leq a$  if and only if  $S$  is  $(m, n)$ -regular and the set  $I_{\langle m,n \rangle}$  is a chain.*

*Proof.* Let  $S$  be an  $le$ -semigroup and for each  $a, a_1, a_2 \in I_{\langle m,n \rangle}$  such that  $a_1 a_2 \wedge a_2 a_1 \leq a$  implies that either  $a_1 \leq a$  or  $a_2 \leq a$ . Therefore  $a_1^2 \leq a$  implies  $a_1 \leq a$ . Thus, by Theorem 2.7,  $S$  is  $(m, n)$ -regular. Next, we show that the set  $I_{\langle m,n \rangle}$  is a chain. Let  $a_1, a_2 \in I_{\langle m,n \rangle}$ . Again, by Theorem 2.7,  $a_1 \wedge a_2 = a_1 a_2 \wedge a_2 a_1$ . Since  $a_1 \wedge a_2 \in I_{\langle m,n \rangle}$ , by hypothesis,  $a_1 \leq a_1 \wedge a_2$  or  $a_2 \leq a_1 \wedge a_2$ . If  $a_1 \leq a_1 \wedge a_2$ , then  $a_1 \leq a_2$  and if  $a_2 \leq a_1 \wedge a_2$ , then  $a_2 \leq a_1$ . So, in either case, the set  $I_{\langle m,n \rangle}$  is a chain.

Conversely take any  $a, a_1, a_2 \in I_{\langle m,n \rangle}$  such that  $a_1 a_2 \wedge a_2 a_1 \leq a$ . As  $S$  is  $(m, n)$ -regular, by Theorem 2.7, we have  $a_1 \wedge a_2 = a_1 a_2 \wedge a_2 a_1 \leq a$ . Now, by hypothesis, either  $a_1 \leq a_2$  or  $a_2 \leq a_1$ . So either  $a_1 \wedge a_2 = a_1$  or  $a_2 \wedge a_1 = a_2$ . Hence either  $a_1 \leq a$  or  $a_2 \leq a$ , as required. □

**Theorem 2.9.** *Let  $S$  be an  $le$ -semigroup,  $m, n$  be positive integers with either  $m \geq 2$  or  $n \geq 2$  and the set  $I_{\langle m,n \rangle}$  is a chain. Then  $S$  is  $(m, n)$ -regular if and only if  $a_1 a_2 \leq a$  implies that either  $a_1 \leq a$  or  $a_2 \leq a$  for each  $a, a_1, a_2 \in I_{\langle m,n \rangle}$ .*

*Proof.* Suppose that  $S$  is  $(m, n)$ -regular. Let  $a, a_1$  and  $a_2$  be any elements of  $I_{\langle m,n \rangle}$  such that  $a_1 a_2 \leq a$ . Since  $I_{\langle m,n \rangle}$  is a chain, either  $a_1 \leq a_2$  or  $a_2 \leq a_1$ . If  $a_1 \leq a_2$ , then  $a_1^2 \leq a_1 a_2 \leq a$ . So, by Theorem 2.7,  $a_1 \leq a$ . Similarly if  $a_2 \leq a_1$ , then  $a_2 \leq a$ .

Converse follows by Theorem 2.7, as  $a_1^2 \leq a$  implies  $a_1 \leq a$  for each  $a, a_1 \in I_{\langle m,n \rangle}$ . □

**Theorem 2.10.** [12] *Let  $S$  be an  $le$ -semigroup and  $m, n$  be non-negative integers. Then  $S$  is  $(m, n)$ -regular if and only if  $a \wedge b = a^m b^n$  for each  $(m, 0)$ -ideal element  $a$  and for each  $(0, n)$ -ideal element  $b$  of  $S$ .*

**Theorem 2.11.** *Let  $S$  be an  $le$ -semigroup and  $m, n$  be positive integers. If  $S$  is  $(m, n)$ -regular, then the  $(m, 0)$  and the  $(0, n)$ -ideal elements of  $S$  are idempotents and for each  $(m, 0)$ -ideal element  $x$  and each  $(0, n)$ -ideal element  $y$  of  $S$ ,  $xy$  is an  $(m, n)$ -quasi-ideal element of  $S$ .*

*Proof.* Since  $x$  is  $(m, 0)$ -ideal element and  $y$  is  $(0, n)$ -ideal element,  $x^m e \leq x$ ,  $e y^n \leq y$ . As  $S$  is  $(m, n)$ -regular,

$$\begin{aligned} x &\leq x^m e x^n = x^m e x^{n-1} x \\ &\leq x^m e x^{n-1} x^m e x^n \leq x^m e x^m e \\ &\leq x x = x^2 \end{aligned}$$

and

$$x^2 \leq x^m e x^n x^m e x^n \leq x^m e \leq x.$$

Therefore  $x^2 = x$ . Similarly  $y^2 = y$ . Since  $(x \wedge y)^m e \wedge e (x \wedge y)^n \leq x^m e \wedge e y^n \leq x \wedge y$ ,  $x \wedge y$  is an  $(m, n)$ -quasi-ideal of  $S$ . Therefore, by Theorem 2.10,  $x^m y^n \in Q_{\langle m,n \rangle}$ . As  $x^2 = x$  and  $y^2 = y$ , it follows that  $xy$  is an  $(m, n)$ -quasi-ideal element □

**Definition 2.12.** A non-zero  $(m, n)$ -ideal element  $a$  of po-semigroup  $S$  with  $0$  is said to be  $0$ -minimal if for each  $(m, n)$ -ideal element  $b$  of  $S$ ,  $b \leq a$  implies  $b = 0$  or  $b = a$ .

**Proposition 2.13.** Let  $S$  be a poe-semigroup with  $0$ . Let  $m, n$  be positive integers and  $a$  be any subsemigroup  $0$ -minimal  $(m, n)$ -ideal element of  $S$ . If  $a^2 \neq 0$ , then  $a$  is a  $0$ -minimal bi-ideal element of  $S$ .

*Proof.* Suppose there exists a bi-ideal element  $b$  of  $S$  such that  $0 \neq b \leq a$ . As  $b$  is a bi-ideal element of  $S$ ,  $b$  is an  $(m, n)$ -ideal element. So, by  $0$ -minimality of  $(m, n)$ -ideal element  $a$  of  $S$ , we have  $b = a$ . Hence  $a$  is a bi-ideal element which is a  $0$ -minimal bi-ideal element, as required.

Otherwise suppose that there does not exist any bi-ideal element  $c$  of  $S$  such that  $0 \neq c \leq a$ . As  $a$  is an  $(m, n)$ -ideal element,  $a^2$  is also an  $(m, n)$ -ideal element of  $S$ . Since  $0 \neq a^2 \leq a$  and  $a$  is a  $0$ -minimal  $(m, n)$ -ideal element,  $a^2 = a$ . Now  $aea = a^m ea^n \leq a$ . Hence, again,  $a$  is a  $0$ -minimal bi-ideal element of  $S$ , as required.  $\square$

**Theorem 2.14.** Let  $S$  be an  $(m, n)$ -regular poe-semigroup with  $0$  and  $m, n$  be positive integers. If  $x$  is a  $0$ -minimal  $(m, 0)$ -ideal element and  $y$  be a  $(0, n)$ -ideal element of  $S$  such that  $x \wedge y$  exists and  $xy \leq x \wedge y$ , then either  $xy = 0$  or  $xy$  is a  $0$ -minimal  $(m, n)$ -ideal element of  $S$ .

*Proof.* Let  $x$  be a  $0$ -minimal  $(m, 0)$ -ideal element and  $y$  be a  $(0, n)$ -ideal element of  $S$  such that  $x \wedge y$  exists and  $xy \leq x \wedge y$ . Let  $xy \neq 0$ . Now we have to show that  $xy$  is a  $0$ -minimal  $(m, n)$ -ideal element of  $S$ . For this we first show that  $xy$  is an  $(m, n)$ -ideal element of  $S$ . Now

$$\begin{aligned} (xy)^m e(xy)^n &\leq x^m e y^n && \text{(as } xy \leq x \wedge y) \\ &\leq xy^n && \text{(as } x^m e \leq x) \\ &= xy && \text{(by Theorem 2.11)}. \end{aligned}$$

So  $xy$  is an  $(m, n)$ -ideal element of  $S$ . To show next that  $xy$  is a  $0$ -minimal  $(m, n)$ -ideal element of  $S$ , take any  $(m, n)$ -ideal element  $z$  of  $S$  such that  $0 < z \leq xy$ . As  $xy \leq x \wedge y$ ,  $z \leq x$  and  $z \leq y$ . Since  $z \leq z^m e z^n$ , we have  $z^m e \neq 0$  and  $e z^n \neq 0$ . As  $z^m e \leq x^m e \leq x$ , so, by the  $0$ -minimality of  $(m, 0)$ -ideal element  $x$ ,  $z^m e = x$ . Similarly  $e z^n = y$ . Therefore  $z \leq xy = z^m e e z^n \leq z^m e z^n \leq z$ . Thus  $z = xy$ . Hence  $xy$  is a  $0$ -minimal  $(m, n)$ -ideal element of  $S$ .  $\square$

**Theorem 2.15.** Let  $S$  be an  $(m, n)$ -regular poe-semigroup with  $0$  and  $m, n$  be positive integers. If  $x$  is a  $0$ -minimal  $(m, 0)$ -ideal element and  $y$  be a  $(0, n)$ -ideal element of  $S$  such that  $x \wedge y$  exists and  $x \wedge y \neq 0$ , then  $x \wedge y$  is a  $0$ -minimal  $(m, n)$ -ideal element of  $S$ .

*Proof.* Let  $x$  be a  $0$ -minimal  $(m, 0)$ -ideal element and  $y$  be a  $(0, n)$ -ideal element of  $S$  such that  $x \wedge y$  exists and  $x \wedge y \neq 0$ . Then

$$(x \wedge y)^m e(x \wedge y)^n \leq x^m e y^n \leq xy^n \leq e y^n \leq y.$$

Similarly  $(x \wedge y)^m e(x \wedge y)^n \leq y$ . Therefore  $(x \wedge y)^m e(x \wedge y)^n \leq x \wedge y$ . So  $x \wedge y$  is an  $(m, n)$ -ideal element of  $S$ . The rest of the proof is similar to the proof of Theorem 2.14.  $\square$

### 3 Characterization of $(m, 0)$ -simple, $(0, n)$ -simple and $(m, n)$ -simple $le(poe)$ -semigroups

**Definition 3.1.** Let  $S$  be a poe-semigroup and  $m, n$  be non-negative integers. Then  $S$  is said to be an  $(m, n)$ -simple if there does not exist any  $(m, n)$ -ideal element in  $S$  except the greatest element  $e$ . In particular for  $m = 1 = n$ ,  $S$  is said to be B-simple i.e. there does not exist any bi-ideal element in  $S$  except the greatest element  $e$ .

**Definition 3.2.** A poe-semigroup  $S$  is said to be left-simple (right-simple, quasi-simple) if there does not exist any left ideal element (right ideal element, quasi-ideal element) in  $S$  except the greatest element  $e$ .

**Proposition 3.3.** A poe-semigroup  $S$  is  $(m, 0)$ -simple if and only if  $S$  does not contain any proper  $(m, 0)$ -ideal.

*Proof.* Suppose  $S$  is  $(m, 0)$ -simple and let  $A$  be any  $(m, 0)$ -ideal of  $S$ . Take any  $a \in S$  and  $b \in A$ . Then  $b^m a e$  is an  $(m, 0)$ -ideal element of  $S$ . By hypothesis,  $b^m a e = e$ . So  $(b^m a e] = [e]$ . Now  $e \leq b^m a e = b^m(ae) \in A^m S \subseteq A$ . Since  $A$  is an  $(m, 0)$ -ideal,  $e \in A$ . As  $S \ni a \leq e \in A$ ,  $a \in A$ . Therefore  $A = S$ .

Conversely, take any  $(m, 0)$ -ideal element  $a$  of  $S$ . Since  $(a^m e]$  is an  $(m, 0)$ -ideal of  $S$ , by hypothesis,  $(a^m e] = S$ . As  $e \in S$ ,  $e \leq a^m e \leq a$ . Therefore  $e = a$ . Hence  $S$  is  $(m, 0)$ -simple.  $\square$

Dually we may prove the following.

**Proposition 3.4.** *A poe-semigroup  $S$  is  $(0, n)$ -simple if and only if  $S$  does not contain any proper  $(0, n)$ -ideal.*

**Theorem 3.5.** *Let  $S$  be a poe-semigroup and  $m, n$  be non-negative integers. Then  $S$  is  $(m, n)$ -simple if and only if  $S$  is both  $(m, 0)$ -simple and  $(0, n)$ -simple.*

*Proof.* Assume that  $S$  is  $(m, n)$ -simple. If  $a$  is any  $(m, 0)$ -ideal element of  $S$ , as  $a^m e a^n \leq a^m e \leq a$ , we have that  $a$  is an  $(m, n)$ -ideal element of  $S$ . Hence  $a = e$  i.e.  $S$  is  $(m, 0)$ -simple. Similarly  $S$  is  $(0, n)$ -simple

Conversely, we assume that  $S$  is both  $(m, 0)$  and  $(0, n)$ -simple. Let  $a$  be any  $(m, n)$ -ideal element of  $S$ . Since  $a^m e$  and  $e a^n$  are  $(m, 0)$  and  $(0, n)$ -ideal elements of  $S$  respectively, by assumption  $a^m e = e$  and  $e a^n = e$ . Therefore  $a^m e a^n = e a^n = e$ . As  $a^m e a^n \leq a$ , we have  $e \leq a$ . Hence  $S$  is  $(m, n)$ -simple.  $\square$

**Corollary 3.6.** *A poe-semigroup  $S$  is  $(m, n)$ -simple if and only if  $S$  does not contain any proper  $(m, n)$ -ideal.*

*Proof.* Suppose  $S$  is  $(m, n)$ -simple and  $A$  be any  $(m, n)$ -ideal of  $S$ . By Theorem 3.5,  $S$  is both  $(m, 0)$ -simple and  $(0, n)$ -simple. Therefore, by Propositions 3.3 and 3.4,  $S$  does not contain any proper  $(m, 0)$  and  $(0, n)$ -ideals. As  $(A^m S][A^m S] \subseteq (A^m S]$ ,  $(A^m S]^m S \subseteq (A^m S]$  and  $((A^m S]) \subseteq (A^m S]$ ,  $(A^m S]$  is an  $(m, 0)$ -ideal of  $S$ . Similarly  $(SA^n]$  is an  $(0, n)$ -ideal of  $S$ . Therefore  $(A^m S] = S$  and  $(SA^n] = S$  which implies that  $(A^m SA^n] = ((A^m S][A^n]) = (S[A^n]) = (SA^n] = S$ . Since  $A$  is an  $(m, n)$ -ideal of  $S$ ,  $A^m SA^n \subseteq A$ . Therefore  $(A^m SA^n] \subseteq [A] \subseteq A$ . So  $S \subseteq A$ . Hence  $S$  does not contain any proper  $(m, n)$ -ideal.

Conversely, take any  $(m, n)$ -ideal element  $a$  of  $S$ . Since  $(a^m e a^n]$  is an  $(m, n)$ -ideal of  $S$ , by hypothesis,  $(a^m e a^n] = S$ . As  $e \in S$ ,  $e \leq a^m e a^n \leq a$ . Therefore  $e = a$ . Hence  $S$  is  $(m, n)$ -simple.  $\square$

**Lemma 3.7.** *Let  $S$  be a poe-semigroup and  $m, n$  be positive integers. Then the following hold:*

- (1) *If  $S$  is  $(m, 0)$ -simple, then  $S$  is right-simple;*
- (2) *If  $S$  is  $(0, n)$ -simple, then  $S$  is left-simple;*
- (3) *If  $S$  is  $(m, n)$ -simple, then  $S$  is  $B$ -simple;*
- (4) *If  $S$  is  $(m, n)$ -quasi-simple, then  $S$  is quasi-simple.*

*Proof.* (1). Let  $S$  be an  $(m, 0)$ -simple poe-semigroup and let  $a$  be any right ideal element of  $S$ . As  $a^m e \leq a e \leq a$ ,  $a$  is an  $(m, 0)$ -ideal element of  $S$ . Since  $S$  is  $(m, 0)$ -simple,  $a = e$ . Hence  $S$  is right-simple.

(2). Proof is dual to the proof of Part (1).

(3). Let  $S$  be an  $(m, n)$ -simple poe-semigroup and let  $b$  be any bi-ideal element of  $S$ . Since  $b^m e b^n \leq b e b \leq b$ ,  $b$  is an  $(m, n)$ -ideal element of  $S$ . As  $S$  is  $(m, n)$ -simple,  $b = e$ . Hence  $S$  is  $B$ -simple.

(4). Let  $S$  be an  $(m, n)$ -quasi-simple poe-semigroup and let  $q$  be any quasi-ideal element of  $S$ . As  $q^m e \wedge e q^n \leq q e \wedge e q \leq q$ ,  $q$  is an  $(m, n)$ -ideal element of  $S$ . As  $S$  be a  $(m, n)$ -quasi-simple,  $q = e$ . Hence  $S$  is quasi-simple.  $\square$

**Proposition 3.8.** *Let  $S$  be an  $le$ -semigroup and  $m, n$  be positive integers. Then  $S$  is  $(m, n)$ -simple if and only if  $S$  is  $(m, n)$ -quasi-simple.*



*Proof.* Let  $S$  be  $(m, n)$ -simple and  $q$  be any  $(m, n)$ -quasi ideal element of  $S$ . As  $q^m e q^n \leq q^m e \wedge e q^n \leq q$ ,  $q$  is an  $(m, n)$ -ideal element of  $S$ . Since  $S$  is  $(m, n)$ -simple, so  $q = e$  i.e.  $S$  is  $(m, n)$ -quasi-simple.

Conversely assume that  $S$  is  $(m, n)$ -quasi-simple. As each  $(m, 0)$ -ideal element (resp. each  $(0, n)$ -ideal element) is an  $(m, n)$ -quasi-ideal element,  $S$  is both  $(m, 0)$ -simple and  $(0, n)$ -simple. Thus, by Theorem 3.5,  $S$  is  $(m, n)$ -simple.  $\square$

**Theorem 3.9.** *Let  $S$  be an  $le$ -semigroup and  $m, n$  be positive integers. If  $S$  is  $(m, n)$ -simple, then*

$${}_m\mathcal{I} = \mathcal{I}_n = \mathcal{B}_m^n = \mathcal{Q}_m^n = \mathcal{H}_m^n = S \times S.$$

*Proof.* Let  $S$  be  $(m, n)$ -simple. So, by Theorem 3.5,  $S$  is  $(m, 0)$ -simple. To show that  ${}_m\mathcal{I} = S \times S$ , take any  $a, b \in S$ . Then  $\langle a \rangle_{\langle m, 0 \rangle}$  and  $\langle b \rangle_{\langle m, 0 \rangle}$  are  $(m, 0)$ -ideal elements of  $S$ . As  $S$  is  $(m, 0)$ -simple,  $\langle a \rangle_{\langle m, 0 \rangle} = e$  and  $\langle b \rangle_{\langle m, 0 \rangle} = e$ . Thus  $\langle a \rangle_{\langle m, 0 \rangle} = \langle b \rangle_{\langle m, 0 \rangle}$  i.e.  $(a, b) \in {}_m\mathcal{I}$ . Hence  ${}_m\mathcal{I} = S \times S$ .

Dually we may show that  $\mathcal{I}_n = S \times S$ .

Next we show that  $\mathcal{B}_m^n = S \times S$ . For this, take any  $a, b \in S$ . Then  $\langle a \rangle_{\langle m, n \rangle}$  and  $\langle b \rangle_{\langle m, n \rangle}$  are  $(m, n)$ -ideal elements of  $S$ . As  $S$  is  $(m, n)$ -simple,  $\langle a \rangle_{\langle m, n \rangle} = e$  and  $\langle b \rangle_{\langle m, n \rangle} = e$ . Thus  $\langle a \rangle_{\langle m, n \rangle} = \langle b \rangle_{\langle m, n \rangle}$  i.e.  $(a, b) \in \mathcal{B}_m^n$ . Hence  $\mathcal{B}_m^n = S \times S$ .

To show next that  $\mathcal{Q}_m^n = S \times S$ , take any  $a, b \in S$ . Since  $S$  is  $(m, n)$ -simple, by Proposition 3.8,  $S$  is also  $(m, n)$ -quasi-simple. As  $(a)_{\langle m, n \rangle}$  and  $(b)_{\langle m, n \rangle}$  are  $(m, n)$ -quasi-ideal elements of  $S$ ,  $(a)_{\langle m, n \rangle} = e$  and  $(b)_{\langle m, n \rangle} = e$ . Thus  $(a)_{\langle m, n \rangle} = (b)_{\langle m, n \rangle}$  i.e.  $(a, b) \in \mathcal{Q}_m^n$ . Hence  $\mathcal{Q}_m^n = S \times S$ .

Finally to show that  $\mathcal{H}_m^n = S \times S$ , as  $\mathcal{H}_m^n = {}_m\mathcal{I} \cap \mathcal{I}_n$ , by the above we have  $\mathcal{H}_m^n = S \times S$ .  $\square$

**Corollary 3.10.** *In any  $B$ -simple  $le$ -semigroup,  $\mathcal{L} = \mathcal{R} = \mathcal{B} = \mathcal{Q} = \mathcal{H} = S \times S$ .*

**Corollary 3.11.** *Let  $S$  be an  $le$ -semigroup and  $m, n$  be positive integers. If  $S$  is  $(m, n)$ -simple, then  $\mathcal{L} = \mathcal{R} = \mathcal{B} = \mathcal{Q} = \mathcal{H} = {}_m\mathcal{I} = \mathcal{I}_n = \mathcal{B}_m^n = \mathcal{Q}_m^n = \mathcal{H}_m^n = S \times S$ .*

*Proof.* Let  $S$  be an  $(m, n)$ -simple  $le$ -semigroup. Then by Lemma 3.7,  $S$  is  $B$ -simple. Hence, by Theorem 3.9 and Corollary 3.10, we get the required result.  $\square$

**Proposition 3.12.** *Let  $S$  be an  $le$ -semigroup and  $m, n$  be non-negative integers. If  $S$  is  $(m, n)$ -simple, then it is  $(m, n)$ -regular.*

*Proof.* If  $m = n = 0$ , then the statement holds true. If  $m \neq 0, n = 0$ , then we have to show  $S$  is  $(m, 0)$ -regular. For this, take any  $a \in S$ . As  $a^m e$  is an  $(m, 0)$ -ideal element, by hypothesis  $a^m e = e$ . so  $a \leq a^m e$ . Dually we may show that the statement is also true when  $m = 0, n \neq 0$ . So assume finally that  $m \neq 0 \neq n$  and take any  $a \in S$ . Since  $a^m e a^n$  is an  $(m, n)$ -ideal element of  $S$ , by hypothesis  $a^m e a^n = e$ . Thus  $a \leq a^m e a^n$ . Hence  $S$  is  $(m, n)$ -regular.  $\square$

## References

- [1] A. K. Bhuniya and M. Kumbhakar, On the  $le$ -semigroups whose semigroup of bi-ideal elements is a normal band, *Algebra and Discrete Mathematics* **20**, 171-181 (2015).
- [2] L. Bussaban and T. Changphas, On  $(m, n)$ -ideals and  $(m, n)$ -regular ordered semigroups, *Songklanakarin J. Sci. Technol.* **38**, 199-206 (2016).
- [3] T. Changphas, On  $(m, n)$ -ideals of an ordered semigroup, *Far East J. of Math. Sci.* **88**, 137-145, (2014).
- [4] K. Hila, Characterizations on regular  $le$ - $\Gamma$ -Semigroups, *Math. Sci. Res. J.*, **10(5)**, 121-130 (2006).
- [5] K. Hila, On some classes of  $le$ - $\Gamma$ -semigroups, *Algebras Groups Geom.*, **24(4)**, 485-496 (2007).
- [6] K. Hila and E. Pisha, Generalized ideal elements in  $le$ - $\Gamma$ -Semigroups, *Commun. Korean Math. Soc.*, **26(3)**, 373-384 (2011).
- [7] J. M. Howie, *An Introduction to Semigroup Theory*, Academic Press (1976).
- [8] N. Kehayopulu, Generalized ideal elements in  $poe$ -semigroups, *Semigroup Forum*, **25**, 213-222 (1982).
- [9] N. Kehayopulu, On intra-regular  $\vee e$ -semigroups, *Semigroup Forum*, **19**, 111-121 (1980).
- [10] N. Kehayopulu, A characterization of regular  $le$ -semigroups, *Semigroup Forum*, **23**, 85-86 (1981).
- [11] S. Lajos, Generalized ideals in semigroups, *Acta Sci. Math.* **22**, 217-222 (1961).

- 
- [12] A. Mahboob and N. M. Khan, On the structure of  $le$ -semigroups, *An. Stiint. Univ. Al. I. Cuza Iasi. Mat. (N.S.)*, Tomul LXV, f. 2 (2019).
- [13] A. Mahboob, N. M. Khan and A. Salam, Characterization of Right Weakly Regular  $Ve(le)$ -Semigroups and Ideal Elements, *JP Journal of Algebra Number Theory and Applications*, **44(2)** (2019), 177-203.
- [14] P. Petro P, K. Hila and J. Dine, On Relation  $Q_\gamma$  in  $le$ - $\Gamma$ -Semigroups, *Filomat*, **30**, 1127-1134 (2016).
- [15] P. Petro and E. Pasku, The Green-Kehayopulu relation  $\mathcal{H}$  in  $le$ -semigroups, *Semigroup Forum* **65**, 33-42 (2002).
- [16] E. Pasku and P. Petro, The Relation  $\mathcal{B}$  in  $le$ -semigroups, *Semigroup Forum* **75**, 427-437 (2007).
- [17] J. Sanborisoot and T. Changphas, On Characterizations of  $(m, n)$ -regular ordered semigroups, *Far East J. Math. Sci.* **65**, 75-86 (2012).

### Author information

Ahsan Mahboob and Noor Mohammad Khan, Department of Mathematics, Aligarh Muslim University, Aligarh-202002, India.

E-mail: [khanahsan56@gmail.com](mailto:khanahsan56@gmail.com), [nm\\_khan123@yahoo.co.in](mailto:nm_khan123@yahoo.co.in)

Received: September 6, 2021.

Accepted: Decemeber 22, 2021.